INT R b

No.38 [tz &

e

=ALLDHEERE

F

i

£5

Z2x[1

/20

1 AR THD L&, ROMIZEZ L,

(@) COSA:%ODJ:%, sinA, tanA OfEZ KD &,

(2 tanA=./2 DL X, sinA, cosA, tan(90° —A) DfEZE R k.

9 Aﬁﬁ%&#éomm:%%®t%,ﬁ®ﬁ%*wa

(1) cosA

(2) sin(90° — A)

(3) cos(90° — A)



INT R b

No.39 Mz &EtE

=ALL L EZ

F

i

&

Z2x[1

/20

1 0°<60<180° &=, ROEXEZT A ZRD X,

S |
(1) 51n9—7ﬁ

(3) tanf= /3

(2) cosf=

2

(4) sind=0




INF R b No.40 EFsEEtE =AtottE

1

& i F | 4l

/20

0°=0=<180" D& &, ROMIZEZ L,

(1) sinHZ% DL X, cosf, tanf OfEE KD k.

(2) cosf= f% DL X, sinf, tanf OfEAE KD k.

(3) tanf= — /2 DL X, sinf, cosh D% KD X,




UNT R MRS Noss BB LAHE ALK

1 O sin’A+4cos’A=1 X
4

D  sinA=1-—cos’A

16 _ 9

)
1o, sinA=1-(4] =1-40 =2

5

ZIZT, AFBATHDLEND sinA>0 XD

. _ sinA _3.4
F7-, tanA= cosA L tanA= = s
YO 2_
@ 1t+tanA=_ o1 LY 14+(4/2) = oA
Lo <T 1 =3 XD COSZAZL
’ cos’A 3

ZIZT, AIIBIATHDLING cosA>0 LY cosAzjg

7 tanAa=S1DA 1

cosA

SinAIﬁX ﬁ =3

3

1

sinA =

3
4

V6

517, tan(90° — A)= tml]A ==

2. (1) sinfA-+cos’A=1 Xk
12

1 NE)
2

D cos!A=1-—sin’A

2
Lo, COSZA:1*<T3> =1

ZIZT, ABIATHAEND cosA>0 XD

(2) sin(90° — A)=cosA =

(38) cos(90° — A)=sinA =

5

13

13

144 _ 25
169 ~ 169

sinA=tanA XcosA THHNH

_ 9
COSA = 13

(3 /%)



UNT R MBS No39 MBLEHE Lk R

1 @ v
1 1 1
e A
=1 0 1 x
0=45",135°
(2) y /3
1 r="9
—1 0 /g/ll x
2
60=30°
(3) Y x=1
ﬁ __________
1
—1 (0] 1 X
6=60
(4) y
1
| N y=0
—1 0] 1 X
0=0°,180°

(%5 5)



UNT R MBS Nod0 BBLEHE o

1 (1) sin¥+cos?h=1 XV cos?h=1—sin?

_,_16 _ 9 _ .3
Lo T, cosh=1 95 = 95 i) cos@—i5
) cos@z% DEx
_sind 4.3 4

tan = cosb 5 "5 3

(i) cosf= —% DEx
_sinf _ 4 . 3\_ 4

t 9_C059_5 ( 5)_ 3

roT cos@z%,tan@zg *7-0% cos@z—%,tan@z—% (5 )
(2) sin*0+cos’0=1 LV sin’0=1— cos’d

foc swoo1oLob
ZIZT, 0°ZL0ZL180° XY sinf=0 THHIMND Sine—%:{? (4 /5)

. __ sinf 2«/? . 1y _ i
E3 tanf=-_ o =" T(_g) 2.2 (3 )

(3) 1+tan=—1 ¥y 14+2=—1__
cos?0 cos?0

I g 1

> T cos 9—3
ZZC, tanf<0 XV, 0°=<0=<180°TIE 90° <0< 180°
Z OHFPHTIE, cosf<0 LY cosh= _Jg? (5 A)
£7Z sinf=tanf X cosh= — ﬁx(—f)zﬁg (3 5)





